sin(x £ y) =sin Xcos y = cos xsin y
cos(x+y)=CcosXCcosyFsinxsiny
tanx+tany
lxtanxtany

2. [’ﬁé]ft{:c

sin(2x) = 2sin X cos X

tan(xty) =

cos(2x) = 2cos® x—1=1-2sin* x
2tan x
1—tan® x

3. f £y

tan(2x) =

sin? () = L7095 2X g ) = Ssinx—sin3x
2 4

cos’(x) = M,Cose’(x) _ 3C0s X +€0s 3X
2 4

4, F A

sin xcosy :%[sin(x— y)+sin(x+y)]
COSXCOSY = %[cos(x —y)+cos(x+Yy)]

sinxsiny :%[cos(x— y) —cos(x + Y)]

il SR
1. [’ﬁé]ft{:c
cosh(2x) = 2cosh®(x) -1
sinh(2x) = 2cosh xsinh x
2. fSE=
cosh? x —sinh® x =1,1—tanh® x = sec h*x
coth? x —1 = csch®x

EN e
1 = Pl

(tanx) =sec’x,  (cotx) =—csc’ x
(secx) =secxtan X, (CScX) = —Csc X Ccot X

2. M= e
(sintx) = \/;7 ,  (tan"'x) = 1+1x2

3.~ EHIIRGHEr
(sinh ™ x) = —— (tanh* X) =

1
N 1-x

4~ EIR )

J' sec? xdx = tan x

I csc? xdx = —cot x

I sec x tan xdx = sec x
Icsc X cot xdx = —csc x
Isec xdx = In|sec x + tan x|

J'csc xdx = In|csc x — cot x|

dx 1. X
Ia2+x2 =gtan 1(5)

dx .4, X
—=Sin"(—
.[ /a2_x2 (a)

dx . X
—— __=sinh™*(=
.[ /X2+a2 (a)

dx X
2 _cosh}(2
I = cos (a)

ax

I e* cosbxdx =

o’ [acosbx+bsinbx]

a’+b

ax

[asinbx —bcoshbx]

Ieaxsin bxdx = .2

a’+b

I e xdx = 2—1aeaxz

s BRI

j a‘xcosbxdx—l\/iegz1
I e dx = \/7Ie‘axdx——\/:




